Activity Name

“You’ve changed!”

(LISTENING)
Language English
Level Intermediate - Advanced (5™ to 9" semester)
— Listen to an audio and identify specific information to solve

Objective .

some exercises.
Linguistic Listening comprehension
Competence to . .

Reading comprehension
Develop
. - Analyze an audio paying attention to some detalils.

Strategies _ y paying

- Link the halves of sentences.

- Identify the questions for the answers.

1. Listen to the audio in the following link:
Activities https://www.esl-lounge.com/student/listening/3L1-youve-changed.mp3

2. Match the two halves of the sentences.

3. write the correct question.

-When you finish go to the “Answer Key” and check your
Feedback answers. You can keep the worksheet in your portfolio of

evidence.



https://www.esl-lounge.com/student/listening/3L1-youve-changed.mp3

A. Listen to the audio and match the two halves of the sentences. Write the correct number in each

space.

1. Cathy
2. Peter's hairstyle
3. Peter's beard
4. Peter
5. Peter's old car
6. Anna

7. Anna's father

has disappeared E
has been sold E
has changed completely E
has moved to a larger apartment E
has given a job to herz
has had a baby E

has started wearing contact lenses E

*Listen to the audio and write the correct question in the spaces below.

Where did Peter and Anna last see each
other?

Where did Anna meet her husband?
How has Peter's beard changed?

How has Peter's hairstyle changed?
Why did Peter get his hair cut short?
Why did Peter get his beard cut short?
What color is Anna's new car?

i.

What color were Peter's glasses?

Where is Peter going now?

Where did Peter use to work?

Why did Anna move into a new apartment?
Why did Anna sell her old car?

When are they meeting tonight?

When can Peter call Anna?

Q:|

A: At Cathy's graduation party.

o

A: He's had it cut shorter.

Q: |

A: Because he didn't like brushing and washing it so often.

A: Red.

Q:|

A: In a bookstore.

Q: |

A: Because it was too small for her.

Q: |

A After 7 p.m.



ANSWER KEY

A. Listen to the audio and match the two halves of the sentences. Write the correct number in each
space.

1. Cathy has disappeared
2. Peter's hairstyle has been sold
3. Peter's beard has changed completely
4, Peter has moved to a larger apartment E
5. Peter's old car has given a job to her
6. Anna has had a baby
7. Anna's father has started wearing contact lenses

*Listen to the audio and write the correct question in the spaces below.

: |Where did Peter and Anna last see each other?

o

A: At Cathy's graduation party.

Q: |How has Peter's hairstyle changed?
A: He's had it cut shorter.

Q: [Why did Peter get his hair cut short?

A: Because he didn't like brushing and washing it so often.

Q: |What color were Peter's glasses?
A: Red.

Q: |Where did Peter use to work?

A: In a bookstore.

Q: |Why did Anna move into a new apartment?

A: Because it was too small for her,

0 |When can Peter call Anna?
A: After 7 p.m.

Source: Esl-lounge.com/student/listening



